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V:{a3x3—|—a2x2+a1x+ao;ao,al,a2,a3G(C}DDDZSDDDDDDDDDDDD
00obOooooooO,0dboboo0ooooooo,Cooboooooooooo.
gooo,djggooooovooogooooo,ggooboogoo,oood
googao.

(1) file)=2*+ 22+ +1, fo(z) =23+ 2° + z, f3(x) = 23 + 22
(2) filx)=23+22—x—1, folo) =22 22—z +1, fs(x) =2 -2+ —1, fi(x) =

3 —1.

(00) (1) a,B8,y€CO0 afi(z)+Bfz) +vfs(x) =0(0000)000. 000,
000000 (a+B+7)2*+(a+B+7)22 4+ (a+B)z+a=0000,000000.

a+pB+v=0,
atf =0,
o = 0.

0300020000000,6=0.0000010000000,=0.000,
filz), fo(z), fs(z) 00000000,
(2) «,8,7,0 € CODO afi(z)+ Bfa(z) +vfs(z) +fs(x)=0000000. 000,
(a+B8+7+8)x+(a—F—7)2*+(—a—0B+7)r+(—a+p—y—0)=0000.
000,000000.

a+fB+y+d=0,

a—0F3-v =0,

—a—p+vy =0,

—a+pB—-v-06=0.
01,4000 6=0.00002000000,a—y=0000,y=a. 000001
0D000000,2a4+6=0. 000,6=—2a000. 000, (a,8,7,6) = (1,0,1, =2
0000,000 afi(z)+ Bfaz) +vfs(z) +0fi(x) =0000000000. OO
0, fi(x), folz), f3(z), fu(z) DO0D0D00O00DO.



V:{f:R—ﬂR;DD}D ROODODODOOOOOoooobobobboboo,00d
goooobooobboooo,RODbDDbDOOOOOOOO0. UUUU,000OO
gobo,voboooRODOOOODODOOOOOoO.

(1) f(x) =cosz, g(x) =sinz.
(2) flx)=1(000O0O), g(x)=2% h(z) = 3"

(00)(1) a,feR 00 af+fg=0(000000)000000.0000,z=0,
Toooo,
2

0=acos0+ (sin0 = «, O:acosg—i—ﬁsing = 4.

000, f,¢00000000.
(2) a,8,vER, 00 af+Bg+~vh=0000.000,2=0,1,20000,000
ooo.

at+ f+ =0,
a+28+3y=0,
a+48+9y=0.

01,2000 8+2y=0.00,02,300023+6y=0.000,8+3y=000
0.000000,vy=0,8=0,a=000000.000, f,¢,h00000000.



